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BOOTTIE AND HATTIE
GO TO SCHOOL




This is Boottie. Boottie is a brother bear.
This is Hattie. Hattie is a sister bear.




It’s windy. It’s cold.
It rains. It’s fall.




Boottie and Hattie go to school.
What do they wear?
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Boottie wears his rain coat and his rain boots.
| Hattie wears her rain coat and her rain hat.




It’s freezing. It’s cold.

It’s winter. It shows.




Boottie and Hattie go to school.
What do they wear?
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It’s warm. Birds sing.
It’s sunny. It’s spring.




Boottie and Hattie go to school.
What do they wear?
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It’s hot. It’s sunny.
No school. It’s summer.




Boottie and Hattie don’t go to school.
What do they wear?




S
They wear their swimsuits.
They go to the sea.
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THE END



